
TKASPM
19/09/202219/09/202219/10/2018

1:6 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00336 K/

/ K VERMEIREN

FRAME TRIGO T-LINE 30-36

TKASPM
19/09/202219/09/202219/10/2018

1:6 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00336 K/

EP00336 / K VERMEIREN

A:
Degrease the screws and use
WEICONLOCK AN 302-50.

1

2

14

24

2019

19

20

11

12

25

23

7

10

17

23

23

23

22

9

4

3

6

6

12

12

14

25

26

5

5

11
24

27

28

Isometric view
Scale:  1:6

A

B

18

21

13

12

15

Detail A
Scale:  1:3

26

25

23

27

28

Detail B
Scale:  1:3



TKASPM
19/09/202219/09/202219/10/2018

1:6 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00336 K/

EP00336 / K

Material
No. Plan Article Quantity
1

2

3

4

5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26

YP06100(R)Long
YP07589(R)Short
YP06101(L)Long
YP07590(L)Short
YP06127
YP06129
YP06440
YP06128
YP06130
YP06441
Rear Wheel (L,R)
Front Fork (L,R)
Cross
Footrest B06 (L,R)
Pushpull Brake L
Pushpull Brake R
XP01817 (raw)
P00030394
XP01541
XP01540
XP01547
XP01518
XP01634 (raw)
M5x25
M6x20
YP08498
Washer M5
XP01560
M6x25
Hole plug d6
Y000697
M6

27267...
27748...
27268...
27749...
27271... (D32)
27281... (D34)
27311...(D36)
27272... (D32)
28282... (D34)
27312...(D36)
EP00243
EP00258
EP00337
EP00352
EP00253
EP00252
GP117
2995366
2993442
2993439
2993450
2993489
GP096
2994083
2994010
2618265
2994069
2993561
2994062
2994336
1100004
1001680

1
1
1
1
1
1
1
1
1
1
2
2
1
2
1
1
2
10
2
2
2
2
2
2
4
4
2
2
6
4
4
4

VERMEIREN

FRAME TRIGO T-LINE 30-36

TKASPM
19/09/202219/09/202219/10/2018

1:6 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00336 K/

EP00336 / K VERMEIREN

*

*Use for unused holes.

|
|

|
|

Material
No. Plan Article Quantity
27
28

XP03399
P00030398

2995447
2995449

4
4


